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2006
MANAGEMENT

Paper 2

Time o3 Howrs | f Maximum Marks @ 500

INSTRUCTIONS

Each gquestion is prinfed boih in English and in Kannada.

Answers miust be wriften in the medium specified (English or
Kannada) in ihe Admission Ticket issued to you, which must

be stated clearly on the cover of the answer book in the space

provided for this purpose. Neo eredit will be given for the
anstoers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has four parts .

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted (o vach question are indicated in each pari.

All gquestions in Parl A, Part B and Part (C are eompulsory,
Answer any three guestions in Part D.
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PART A Ax5=20

Answer cach question in about 50 words. Each question carries 5 marks.

{a)
{h

ich

(d}

What is ‘Customer Relationship Marketing' ?
What ig ‘Human Resource Planning’ ?

What are the attributes of a good manufacturing system that aims
Lo fullil customer demands ¥

Whal are ‘Ratios” 7 What are the advantages of ratio analysis ?
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PART B 10x10=100
Answer ecach question v abowt 100 words. Each question carrivs 10 mearks,
2. What is ‘Carcer anchor’ 7 [dentily a few carcer anchors,

3. “Marketers must consider cach family as a decision-making anit and
determine the locus of lamily authority, particularly in selling houschold
goods.” — How do these family units play an important role ?

4. [dentify the events that form part of the operating cyele in a
manufacturing company and explamn them.

5. What 18 ‘Process planning’ 7 Whatl are the tasks managed generally in
process planning

6. What is ‘Capital structure’ 7 What is ‘Financial structure’ 7 In case ol a
new company, what could he the pattern of the capital structure ?

7. Elucidate the factors that affect the forecasting of products.

8. What are the psychological (actors thal influence a person’s buaying
choices 7

9, Provide an overview ol the situational/environmental  factors  that
influence the selection and recruitment process.

10. What are the factors that affect the Dividend policy of a company ?

11. What is Value analysis’ 7 When should companies atlempt to apply value
analysis ?
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PART C 6x15=00
Answer cach question in abowt 150 words. Each question carries

I5 marks.

12, Whatl is ‘Segmentation” 7 Explain the bases for segmentling consumer
markels,

13. What 1s "Layoul planning’ 7 Flucidate the objectives of plant layout.

14. “Performance appraisal could be taken either [lor evaluation or for
developing employees,” — Fxplain why organisations assess performance
of employees.

15. HRD is needed for any organisation that wants to grow contlinuously,

leading Lo several outeomes. List and explain the HRI) outcomes.

LG. What is ‘Working capital’ 2 What f(actors determine the working

capital
requirements of a company ?

17

The following are the details regarding the operations of a firm during »

period of 12 months
Sules : Rs. 12,00,000
Selling price/unit, : Rs. 10
Variable cost/unit ;.  Rs. 7
Total cost/unit : Rs. 9
Credit period allowed to customers — One month.

The firm is considering a proposal for increasing the collection period
from onc month to two months. The relaxation is expected to increase
sales by 25% from its existing level. If the firm’s required veturn on
investment 1s 25%, advise the firm.
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18,

19,

20.

21.

22,

(8)

PART D X 0=00)

Answer any three of the following questions, each in about 300 words.
Kool question carries 30 marks.

What factors does a firm have to consider in setting its pricing policy ?

Explain,

Classify Lhe components of ‘Tntegrated materials management function’ in
modules and explain them with illustrations.

An increasingly litigious work-forece makes it neeessary for employers to
institute a proper grievance procedure. Identify the causes for grievance
and ils effeets and sugpest suitable steps in grievance procedure.

The annual demand of a product is 12,000 units. The ordering cost is
Rs. 100 and carrying cost per unit per year is 20% of purchase price per
unit. The purchase price per unit is Rs, 50, Find the economic order
quantity, number of orders per year and the time between successive
orders.

What are the characteristics ol a good investment evaluation criterion ?
Also, state a [ew criteria in use for the above purpose.
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